[ Efficiency vs vertpos |
1.2

T ot A S
AT T
o
04— ------------ ------------ ﬁ;ﬂ*
ooy
: 1% ﬂ ﬂ‘H‘H’ ++++H‘++++H T4

0.95

1072

10

1

10 0?
TP vertr (cr%)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
=G —— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO
ICIeNd _,__ pQM_V0001_R000000001__Global__mkFitOLD-checkDet_ RECO

N 1.2

e r :
o} - :
> r :
(2] .
> :
> :
(8] .
c ;
@ ¥
3] :
= :
o :
L p

----- ‘hﬂmﬁ%

93020 —10 0 10 20 30

TP vert z (cm)

[Effici

ency vs.sim PV z |

1.2

0.8

0.6

efficiency vs Sim. PV z

0.4

0.2

Ratio
o

_|_+_
—+— [
F

10 15 20
Sim. PV z (cm)

o
L
o1
of
o1



	Contents
	Page 1


